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UR A Ha%E 38,987,821 M B:Fm16%F48 1H
X HHHREE 35,683,773 M Z.ER1753A31H
(Bfr:M)
| |iwAo#
BB (KifFo) T EE|REE|E B 5 &
1. REIA 3,952,000 3,782,400 169,600
1. REIA 3,840,000 3,692,800 147,200/1600 % 23084
2. BEPIRERA 112,000 89,600 22,400(1600 x 564
2. EERIRA 30,178,500| 29,504,700 673,800
1. BFEHIRA 29,977,500( 29,339,300 638,200
1. BREEEERM 300,000( 260,000 40,000(10000F9 x 2644
2. BEEHH 240,000 288,000 A 48,000|i#24000M x 244
8000 x 3044
3. EREHH 160,000( 104,000 56,000|8000F9 x 1344
4. HHEEHR 7,200,000| 7,410,000( A 210,000|1# 18000/ x 74
6000 X 121444
5. AksER@ER 77,500 102,300 A 24,800|1550 % 6644
6. FHEiH 20,240,000| 19,837,400 402,600((154 &) 2200 x 36644
(164EfE) 2200 x 8651 {4
7. RS 1,760,000 1,337,600 422,400|(154 &) 2200 x 3044
(164EFE)2200M x 57844
2. FEBARMRA 201,000 165,400 35,600
1. BEREAAM 175,000{ 135,000 40,000|500M x 27044
2. B 21,000 29,400 A 8,400(1050M x 2844
3. EMmH 5,000 1,000 4,000(500F x 244
3. LEEUA 1,650,000| 1,573,278 76,722
1. EREZES 500,000 502,000 A 2,000
2. AREXHAZRE 400,000( 371,186 28,814
3. 2EARA4 RS 750,000 700,092 49,908
4. FFEIA 100,000 0 100,000
5. #ULA 161,000 110,749 50,251
1. Z2AFE 1,000 149 851
2. LA 150,000 110,600 39,400
3. fEfmAIA 10,000 0 10,000
LEIRAEE(A) 36,041,500( 34,971,127 1,070,373
ATEAfR BN X E %8 4016,694| 4,016,694 0
A& (B) 40,058,194 38,987,821 1,070,373
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1. EEE 10,610,000 8,920,107 1,689,893
1. %8& 200,000 65,480 134,520
2. {RFS 5,500,000 5,031,150 468,850
3. BHEEE 650,000 634,118 15,882
4. REXRBE 200,000 152,707 47,293
5. K& 1,500,000| 864,229 635,771
6. HEME 100,000 97,759 2,241
7. BIEEWRE 200,000( 202,175 A 2175
8. FNf & 100,000 44,625 55,375
9. Efa# 710,000f 556,416 153,584
10. LEBVUKHE 100,000 72,831 27,169
11. B AR 500,000 384,600 115,400
12. i8¢ 450,000 430,000 20,000
13. & 400,000{ 384,017 15,983
2. BX%E 29,050,500| 26,763,666 2,286,834
1. ABEHEE 600,000 25,625 574,375
2. BRHEEEME 300,000 119,000 181,000
3. ERHEESE 1,800,000 1,511,359 288,641
4. HIfTEXE 500,000 204,750 295,250
5. REEX 200,000 0 200,000
6. ZFEEX 1,650,000 1,573,892 76,108
1. FTEREHEERESE 500,000 502,614 A 2614(RERIRERET
2. AEAHBHESEE 130,000f 129,966 UNREHREBEXHZFE
3. ARGEEERTEILTIENEEE 750,000 700,092 49908 2ER A4 HEEET
4. FHRARAHEEREREE 270,000| 241,220 28,780| REBX R EBXHAERR
7. XERFE 24,000,500( 23,329,040 671,460
1. REXfFE 1,680,000| 1,615,600 64,400
2. BFHEAXRAE 22,202,000( 21,617,140 584,860
3. ARt 118,500 96,300 22,200
3. Fir& 397,694 0 397,694
LEIXHAEH(C) 40,058,194 35,683,773 4,374,421
LHUNZ E4E (A)—(C) A 4016,694| A 712,646 A 3,304,048
REAREBINZ =% (B)—(C) 0 3,304,048| A 3,304,048
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ERI17EENZTFHEE

#HEEAN BRGMFEHEHR

IR A H&E 38,305,548 M B:EK17F48 18
X HHREE 38,305,548 A Z.ER18%£3A31H
(Bfr: M)
IR A DEB
BB (K.fFod) T B B |AEETEHIE B ® =
. REIA 3,792,000 3,952,000 A 160,000
1. KEILA 3,680,000( 3,840,000 A 160,000/1600F x 23004
2. BEHMEERA 112,000 112,000 0/1600M x 704
2. BEIA 29,298,500 30,178,500 A 880,000
1. BHEMIRA 29,097,500 29,977,500 A 880,000
1. BREESFEHEN 300,000 300,000 0/10000F9 x 3044
2. BEEHEM 240,000 240,000 0/8000M x 3044
3. EREHER 160,000 160,000 0/8000M x 2044
4. BEIEEHRM 7,200,000/ 7,200,000 0/6000M x 120044
5. AkciE@E 77,500 77,500 0/1550 x 5044
6. FHEREH 19,800,000/ 20,240,000 A 440,000/2200 x 900044
7. RMEGEH 1,320,000( 1,760,000 A 440,000(2200M X 60044
2. FEBARHRA 201,000 201,000 0
1. BENFEEAHN 175,000 175,000 0/500F9 x 35044
2. BXATH 21,000 21,000 0/1050M x 2044
3. iy 5,000 5,000 0/500 x 1044
3. FEEUWA 1,650,000 1,650,000 0
1. BREZER 500,000 500,000 0
2. WEEXEZFESE 400,000 400,000 0
3. 2ERAFIREEEHEZRAE 750,000 750,000 0
4. FREILA 100,000 100,000 0
5. #ILA 161,000 161,000 0
1. ZAFER 1,000 1,000 0
2. #ULA 150,000 150,000 0
3. MEAAKUIRA 10,000 10,000 0
LEIRA S ET(A) 35,001,500 36,041,500 A 1,040,000
AT EARRERIN X =58 3,304,048 4,016,694 A 712,646
IRAEE (B) 38,305,548 40,058,194| A 1,752,646




X HDE

BB (R.fpoD) ¥ HE B |EETHEE A

1. A 4,350,000 10,610,000 A 6,260,000
1. %8 %& 200,000 200,000 0

2. HAHFH 0| 5500000, A 5500000

3. BIELE 0 650,000 A 650,000

4. REBE 200,000 200,000 0

5 =& 1,500,000 1,500,000 0

6. HERE 100,000 100,000 0

7. BIEEWE 200,000 200,000 0

8. FRI& 100,000 100,000 0

9. EfFH 600,000 710,000 A 110,000

10. JLEVUKHE 100,000 100,000 0

11. FHBRNE 500,000 500,000 0

12. &EE 450,000 450,000 0

13. #& 400,000 400,000 0

2. B%%8 33,752,500 29,050,500 4,702,000
1. ABRHEE 600,000 600,000 0

2. XBRTE 6,100,000 0 6,100,000

2. BRHEEENS 300,000 300,000 0

3. ERHESE 1,400,000 1,800,000 A 400,000

4. FIFTEX 300,000 500,000 A 200,000

5. REEX 200,000 200,000 0

7. RREX 1,650,000 1,650,000 0

1. FTEREHERESE 500,000 500,000 0

2. WERAFIEFEEEX 130,000 130,000 0

3. AASEMELERREREE 750,000 750,000 0

4 FRAZAHESRERSEE 270,000 270,000 0

8. XEpRft& 23,202,500 24,000,500 A 798,000

1. REXFE 1,610,000 1,680,000 A 70,000

2. BHRHRMAE 21,474,000 22,202,000 A 728,000

3. FERARIR & 118,500 118,500 0

4. PlRE 203,048 397,694 A 194,646
LEIXHEE(C) 38,305,548 40,058,194 A 1,752,646
LHUN T =48 (A)—(C) A 3,304,048| A 4,016,694 712,646
REAREHIN X Z=5E(B) — (C) 0 0 0




